N = 0l & At & Ml A

2N =2
g g88 HYIS Mz d3d e

S HIIZ2 Hel XN (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A& =& 17,981,693 17,304,331 677,362
Al 28,100
- 17,953,593
SE® HII2 Hel2 MeEasd 12,936,935 12,266,351 670,584
Al 9,800
- 12,927,135
HII2 He2l X 10,213,039 9,646,891 566, 148
MEHI=S =4 28 Hel 900,056 904,600 N4 544
201 et 34,180 6,300 27,880
01 AP 2t 2] H| 19,160 6,300 12,860
JIMHAESHE AARARSE A E
70,000 x5 «23] 700
MEHIIS 220 HBAN SIS 49
70,000 4 x5 1,400
MEEHIIS 220 HYAN HIFTIIS 2
2l 600,000 * 1Al 600
MEHIIS s &8 oHUHE HE
602 *60, 000 All CH 3,600
ANHASHEBAIAE DX 10,000,000& » 1Al 10,000
ANeEH2HI=2EH A 55,000 «52CH 2,860
02 2324 15,020 0 15,020
HEHIIS2AEHHSAAE (HIIZ2) SAE4H|
100,000 x12& 1,200
ANHtSHE B A AL S| 550,000& x10& 5,500
ANHS2HIEH SN2 16,000 «52CH x 10 8,320
207 I & 18,000 18,000 0
01 g EAH| 18,000 18,000 0
MEHIIS 228 2IIHA B
11,000,000 = 1Al 11,000
MEBHIIS 220 HBAN ZI 8
;000,000 x 14! 7,000
301 et A= 500 500 0
12 JIEtE2 A= 500 500 0
MEHIIZ2 =S HHAXE HIF AlM=
500,000 =104 &~ 500
308 XX G SO|IA 847,376 879,800 N 32,424
112 2SUHUSHEAEAE A Y| 777,300 814,800 A 37,500
MEHIS(LEIMY D) Z22XIAE B4
=3 412,800
ZFH (LB 16,000& «1,850= 12 355,200
S (AP &) 40,0002 x120=E+12&€ 57,600
SASFHIIS 22X AE B2 364,500
MRSASTAESAIL
75,000 x375= « 128 337,500
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2N =2
g g88 HYIS Mz d3d e

9l HOIE Mel N (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
s HoleHE X2 AIE
18,000 *125E *x12& 27,000
12 JEtRE 2 70,076 65,000 5,076
HIISHERE 2 70,076
-2 15,000& *3,200&E *1.023 49,104
cA24FE 2,500& *8,200= +1.023 20,972
MEEM D] D1 A2t E 8,815,583 8,357,481 458,102
307 QI2t01 ™ 8,815,583 8,357,481 458,102
05 A2t E = 8,815,583 8,357,481 458,102
MEHIIZ2 =28 2ARAE 8,771,543
AU 22 SSAM Hel 89
70,000& 280t 2| x12& 23,520
HedXFE 28 Hel 225,000& x6E+12& 16,200
HSMWE & Ml 120,000 x3E*12& 4,320
SEHMNSE M 377,400 377,910 A510
201 2yt 2 Y| 377,400 377,910 A510
01 AFR2t2ldl 374,040 374,550 A510
SEMEE HIDZEAIAE ZoF BHAl 2¢)
450,0002 * 14! 450
ALIZ2ZSHEE HE 192,096
- 54 31&x50,0000H x12& 18,600
- 104 38& *100,00000 = 12& 45,600
- 204 573 x50,0000H x12& 34,200
- 304 85& 20,0000 x12& 20,400
- 504 1243 22,0000 = 12& 32,736
- 754 169 20,0000 x 12 40,560
MAMESHHSE MH 99,756
- 104 41& *33,00001 = 12& 16,236
- 204 58& x120,00001 *12& 83,520
MNIESHHSE M 11,154
- 754 169& +5,5000 x12& 11,154
MYDIESE HIZE 2IMH| 8& 5,070, 0000H 40,560
SSE2 MY II0H HM & 22,920
- 504 4203 *2,50000 = 12& 12,600
- 1004 430 *2,00000 = 12& 10,320
E0HY MEHIIS M2 MYI0H0 & 4,320
- 304 400 90001 12 4,320
SAME MEHIIE 82 MYI/0H0 H& 2,784
- 304 4003 5800 x12& 2,784
02 332494l 3,360 3,360 0
MYDISEMH HIREZZ )Y S E4H|
280,000& x12& 3,360
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X ZH -
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el

=228 HII2 Melz M3 o
Hol2 Hel N&

PN

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEHIE EFE 2 4,840 4,240 600
201 £B-2d| 4,840 4,240 600
01 At 22l 2,400 1,800 600
ERE AR5 7¢ 200,000& =122 2,400
02 2324l 2,440 2,440 0
EFY 232 120,000& =128 1,440
EFFE AEZEH KX 1,000, 0003 =14l 1,000
EAXEXDR 2el 25,160 2,660 22,500
201 24| 3,160 2,660 500
01 At 2t 2/l 600 600 0
FAaXg LXK BEEXN AMAER
600,000& x13] 600
02 =224l 2,560 2,060 500
FAXE AN I3 & HoxE23
100,000& = 12& 1,200
FAXE IHAX UHUZE AE2
30,000& 128 360
EAXE XX AIE SXH 1,000,000 *14) 1,000
401 AIEHI L 2 CHYI 22,000 0 22,000
01 A& HI 22,000 0 22,000
AT DX MIH=XelAIE 24 A
22,000,000 » 14! 22,000
SEHM=E & 2= & 2eal 90,000 0 90,000
307 glz2tol & 90,000 0 90,000
05 RIZtE = 90,000 0 90,000
ZHES(SAS UREE) B308 8
7,500,000& x12& 90,000
MRe =5 IR0 341,278 323,024 18,254
Al 9,800
T 331,478
RHEI ZAES 91,166 89,416 1,750
201 ¢er24| 89,466 87,716 1,750
01 At 22l 12,000 10,250 1,750
SHEI HEE AKX 2 EUH(EY) 3,000
SHED oS 2d HA MH
110& *10,00000 x2& 2,200
SHEI AHE 208 W 2,800
SEXE 20,000& 704 1,400
A= 20,000& +70H 1,400
SHEI HE =2 ME 10,000& 2004 2,000
SHEI AT vtY U= &X
100,000 2004 2~ 2,000
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AN A=
M E2% HIIE M2 48 o
Sl WRE = 4RI (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 77,466 77,466 0
SHEI EEothet 8834 AEE
92,0003 *543| & 128 59,616
SHED cH5IHe RXANES
1,000,000& = 10CH 10,000
SHED| cHItder MIIR2
5,000 800 x 12 4,800
A L AHBDT BHEEDN L4
250,000& +5CH 1,250
SUHERS K& 30,000 «50 122 1,800
301 LeEBA S 1,700 1,700 0
12 JlEt2 43 1,700 1,700 0
QEEI ND By
(50,000 *20%*5021 ) +(200, 000& *20%*3024 ) 1,700
QAT P& 2A St & 14,000 22,450 ~8,450
Al 9,800
T 4,200
401 Al HIZ 201 8] 14,000 22,450 A 8,450
Al 9,800
T 4,200
01 A& HI 14,000 22,450 A 8,450
SHEI oY AEFDEHOGMH) &X
1,400,000& = 10CH 14,000
Al 9,800
T 4,200
AEE IS Ea HAH =8 236,112 211,158 24,954
201 Lt 210,372 195,418 14,954
01 At 2t 2l 77,032 76,968 64
A3 FAXE ARE 18,000, 000& * 14 18,000
BFolst HZ2HLAES 7,380
X2 2,000 x74F »204 =12 3,552
DEYEA(HDE) 350 +74F 102 i+ 12 3,108
Mg g 9,000& *80H 720
fHED 58 2MIDE T
5002 x4 H 13 gl x250 500
HZHAS Z23S0tU (1004 ) 4302 +65,0000H 27,950
IZHLAE(MHEESE =) SSESS(502 )
141& 10, 0000H 1,410
IZ2HLE(NEEE =) 33825 (1002 )
2423 x10,0000H 2,420
taS HEZ S WLEES 150,000 =74 11,100
FAXE 2HE S
8,000 *4H *25221 )+(8,000& *2H 132! ) 8,272
02 =224l 133,340 118,450 14,890
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X ZH -
L= B

el

HIlZ2 XMclz2 d42&3 Mo
=3 o3RI

H . ool (30) - NIRAY - B il
2203t SHZ208 HdolELI
600,000 » 14! 600
SEXE A2l 132,740
XS IEA(4TH) 25,0002 *4LCH 100
AsSx B = (1600) 6,100
-HEst=E=+ 350,000& = 10CH 3,500
-SE3=EES 300, 0002 »2CH 600
-A8st= 500,000& =4 CH 2,000
-ARUY BIMNERES 360,000& =5CH 1,800
e ;FH S(160H) 86,740
2R 1,164& x4,100¢ =13CH 62,042
-CNG 16.306& 458,97 IMJ*3CH *1. 1 24,698
Xt =2 (1edl) 38,000
-HEs=E+ 3,000,000& = 10CH 30,000
-S8s=E=+ 2,000,000 *2CH 4,000
-AES = 1,000, 000& »4CH 4,000
SEES L 1,800 1,800
A FAH L F Y| 1,800 1,800
HAME HEFAH 2,000,000 *90% 1,800
SRR 23,940 13,940
HALAHI KRS 7,940 7,940
HA 2H 2TAL &K AS
350,000& x10H 3,500
sZ0Istd =HEthal 60,000& x74H 4,440
JIEtE &3 16,000 6,000
2Z0Isy EEUEY *I=E=3 2,000,000 8 16,000
Dig 2z 2 Hge =3 2,382,618 2,296,436
MEMY I =0l Al 24,400 5,560
2 B2 I Y| 6,400 5,560
At 22|l 4,900 3,560
SASMYI E01J] € HEE 222 MH
100& %20, 0000H 2,000
SAHSFHIIS 24 AN d0 HotA~ds &
& =g 70,0003 x8H 13| 560
MAZ OtOI AT =18 Y 180,000& » 13 2,340
HAL2 S HI 1,500 2,000
&g E 1,500
012+ 18,000 0
QIZtRIEZ 18,000 0
THALE OtOlAZ 28 2 HIA
3,000,000& x6& 18,000
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P EEd YIS MadzZ dEsEd oid
CHYIE Z2E R NEE =

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SASRHIIE YRS L LWHE NN 33,648 33,648 0
201 £B-2d| 33,648 33,648 0
01 At 22l 33,648 33,648 0
SASRHIIS RS MR (HSEY) 28,038
JIHEE(32 ) 33&*17,00004+12& 6,732
¥ E(52 ) 33% *45,00001x12& 17,820
A3 (204 ) 333 x6,60001 x 122 2,614
A& (1200 ) 333 *2,20000 123 872
SAERMHIIE =THE HE(BSFH) 5,610
ISFE (Yot 5@ +4, 50000 x12& 2,970
=2 4E(104 ) 403 *5,50000 x 128 2,640
SAMEFHIIS A3 QI2HLIE 2,171,160 1,993,680 177,480
307 glz2tol & 2,171,160 1,993,680 177,480
05 RIZt2E = 2,171,160 1,993,680 177,480
SNSEHIIS H2l QA
163,000& 1, 110E+12& 2,171,160
2EZ dEXHaE 2g 40,380 38,040 2,340
201 24l 35,580 33,240 2,340
01 At 2t 2l 9,150 6,810 2,340
g ABE 7Y 500,000& x12& 6,000
NoEy =HY| 650,0002 14! 650
NAX 2F W=l 500,000& x5H 2,500
02 2324gHl 26,430 26,430 0
dot=ER3 110,000& =128 1,320
&di1e3 1,000,000& »12& 12,000
Heez 1,100& 104 *20H A +75L 1,650
A& ZHl KX 900,000& x 123l 10,800
CIHUNEH MEZ 22,0003 ~12& 264
Il RANE=H 33,000& 128 396
203 R =&t 1,800 1,800 0
03 AIMF=XH R =AY 1,800 1,800 0
Hes2s dEXdeld gRFa|
2,000,000 *90% 1,800
206 M= Hl 3,000 3,000 0
01 M= 4l 3,000 3,000 0
P-PXISHE 2 20,000& 1502 3,000
225 =% 2453t 113,030 97,618 15,412
201 L2l 43,170 30,650 12,520
01 At 22l 43,170 30,650 12,520
BIEHE MeES =8 U &7 24 13,160
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g g88 HYIS Mz d3d e

Sl HII2 2 Y HEE =3 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HESHEX 2 4003 *40000 * 1404 & 2,240
- M2AEX 2 6503 *1,20070 1404 2 10,920
Hess =& 0t +¢ 19,800
- 2002 330& =60, 0000H 19,800
HEE WS = HE 72 5,250
- 2002 175& =30, 0000H 5,250
ST B0/ =g 7¢ 79,000& =40CH 3,160
AJNLEXY HOIA0Z & WEAY
100,000& *30H A +6& 1,800
301 LBEAZ 1,400 1,400 0
12 JEE 4= 1,400 1,400 0
Hess =& Fds 150, 000& 62l 900
BIEJ &= 0IXNs 2N ADEBNS
50,000& x 103l 500
307 21201 A 68,460 65,568 2,892
05 RIZt2IEt = 68,460 65,568 2,892
HRel¥ HMel & HE 11,0008 +100=+123 13,200
AEHIIE 28 XMel 200& *21,000kg* 128 50,400
HEZS 23 22A9A M
1,500 x162km*203| 4,860
= 2 83,069 69,336 13,733
Al 18,300
T 64,769
LeEhR ¥ 2SsEA 2l 83,069 69,336 13,733
Al 18,300
T 64,769
HOIGt=HMelAld 334 & 2el 3,894 4,070 N 176
201 ¢4l 792 770 22
01 At 2t 2l 792 770 22
Fox 4 0l A4 7Y
132,000 6% A 792
307 glz2tol & 3,102 3,300 A 198
05 RIZHRI & 3 3,102 3,300 A 198
FhXels==2 Hd An23
1, 100& %47, 000kE *6% 3,102
SSHEY FA2c 56,175 59,136 22,961
Al 10,800
- 45,375
201 £B-2d| 56,175 59,136 22,961
Al 10,800
- 45,375
01 At 22l 10,800 11,100 A 300
N 22294 XA 10,800
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A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
Al 10,800
02 =224l 45,375 48,036 N2,661
SSHELY 323 22,829
HdIIRS 95,0003 *7IH A+ 12 7,980
dot+ER23 300,000 404 2«12 14,400
SHAHI MY SARD
9,900& 1 A +x12& +5,500& #5I A~ «12& 449
SEHEL B =25 4,346
- MHeHa SEsEA
35,0002 x3kL x9JH A x43] 3,780
=M SS3EA
19,6902 +(39.25m 13,900 ) 566
SSst& 4 A2l 1,400,000 » 1304 2 18,200
SSHEA A 23,000 , 130 16,870
Al 7,500
T 15,500
401 Al&HI & 28I 23,000 , 130 16,870
Al 7,500
T 15,500
01 A& HI 23,000 , 130 16,870
SSSEY SHEYG oYy AT E &X
200,000& =404 8,000
FHOUAAS MHeha stEA XA
5,000,000 «34 & 15,000
Al 7,500
T 7,500
HE2HZH(FAEHD) 4,961,689 644 A6,955
oret 2 g | 4,872,309 264 16,955
ol 2AY| 4,872,309 264 26,955
101 @14 dl 4,872,309 264 A 6,955
03 RIHAZ 22+ 4,872,309 264 26,955
Q018 (74Y) 4,872,309
=2s 3,505,900& x74H x12& 3,113,240
S0z 3,505,900& 74X x36% 93,398
g 55,200
-Esg 55,200
i < X 40,000 x70H «12& 33,600
M EH S 20,0003 90 «12& 21,600
scl= Al 322,990
-Z g A 130,000& x74H 128 115,440
-HEFOH 3,505,900& 74X x80% 207,550
ZTUZRE 741,371
~52222+H(ERY - =55Y)
17,5883 *4 Al 2t 150%+74H 67 L 523,208
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A KR &S
HH: HH2IAH(HA8FY)
ool =23
SH - BAEA) - MRAY - BES Of &t o il
Fooesg(grg)
17,5883 x4 Al 2H%150%+ 12 52 5,488
-t 2fg
17,5883 2 Al 2Ex50%+212 x 12& 4,433
-HRsSRIIE
17,5883 *»8Al 2tx74E 20 208,242
HstHl2x+& 6,000
-l SE= KA& 300,000 20 *13] 6,000
A2E RE= 476,710
-=0g=s BE= 4,332,199,000& *4.5% 194,949
-1E228 FY3 4,332,199,000% *1.65% 71,482
—MEMHES RFES
4,332,199,000& *1.177% 50,990
-AYEE FE=  4,332,199,000& +3.335% 144,479
-“AJRYEE RES
4,332,199,000& *3.335%*10.25% 14,810
e ¢ 15,000,000& * 1 15,000
Mol 243 500,000& »2&H 1,000
AY SE/AZS 3,000,000 x1H 3,000
-AMNEX MEUE O A& 30,0003 +74Y 2,220
SIls € i EA 42,180
-getEy 20,000& »74& 1,480
-gEt= 100,000& «74H 7,400
-get2 25,000 74 1,850
-Hg= 100,000& «74H 7,400
-OFZ Q™ 7)) 125,000 »74H 9,250
-29 30,0003 »74& 2,220
-+t & 3t 30,000& »74& 2,220
-otM 2Tt 50,000 +74H 3,700
-0lAI2 X OtA3 900& 1009 x74H 6,660
o=l 89,380 89,380
Jl234| 89,380 89,380
201 LBr2 Y| 11,680 11,680
01 At 22l bl 11,680 11,680
EN2EH| 3,200,000% *95% 3,040
2 =g A 8,000& 541 x18F »12& 8,640
202 o4 Hl 73,920 73,920
01 SLHO I 73,920 73,920
A 20| 280,000 »22H «12& 73,920
203 2R =AY 3,780 3,780
04 EMESEYRFTH 3,780 3,780
EA2ELRFAH 350,000& »12& »90% 3,780
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